X2 —10Xx—24 | x*—15x +54




X + 14x + 49

X+ TIx+12 | x°P+3x—40




Qabla N©° 3

x> + 10X + 25

x> + 15X + 56




AX® + 28X + 49

X —12x —45 | x*—12x + 32




x> + 16X — 36




tabla N° ¢

A+ 8X + 16 | 42 —4x + 1




Qabla N° 5

x> + 14X + 49 | 9x% — 30x + 25




ctabla N° g

X* + 10X + 25 | 4x% + 28x + 49

x> + 15X + 56




Ox* — 30X + 25

x> — 12X + 32




Ax? + 12X + 9

x> — 12x — 45




X2+ 14X + 49| 4x° + 12x + 9

x> — 10X — 24




AX? + 28X + 49

x> — 12X + 32




Qabla N° 13

x> + 10X + 25 | 9x% — 30x + 25

X2+ 7x + 12




4x* —4x + 1

x> —12x — 45 | x*—15x + 54




x> — 12X + 4

x> + 15x + 56




X% — 10X — 24




Ox’ —12x + 4

x>+ 16X —36 | x> —12x + 32




AX® +
28x + 49




x> + 10X + 25




gabla N® 2¢

A° + 12X + 9

x> + 15X + 56




Qabla N©° 27

x> + 14x + 49

x>+ 15x + 56 | x> + 16x — 36




Qabla N©° 22

A2+ 12x+9 | X2 +8x+16

x> — 12X + 32




x* + 10X + 25

x> — 15X + 54




gabla N® 24

x> + 10X + 25 | 4x° + 28x + 49

x> — 12x — 45




Ox°— 30X + 25| 9x°—12x + 4

X2+ 7X + 12




%2 + 14x + 49 | 4x% + 28x + 49

x> —10x—24 | x>+ 16x —36




-

~

El desarrollo de

(x+ 4)2 es:

-

X%+ 8x + 16

\
>

/
\
El desarrollo de

(x+ 5)2 es:

~

El desarrollo de

(x+ 7)2 es:

2

\
>

3

\
>

X% + 10x+25/

El desarrollo de

(x -2)2 es:

X+ 14x+49/

El desarrollo de

2x - 1)2 es:

4% — 4x+1 /

7

\
>

X2 —4x+4

\_
5

-
N
El desarrollo de

(2x + 3)2 es:

<

El desarrollo de

(x+ 3)2 es:

X% +6x+9 /

\_
~

453 + 12x+9/

<

El desarrollo de

(2x-7)? es:

452 — 28x + 49/




-~

El desarrollo de

(3x-5)2 es:

9x% — 30X + 2

~

-~

N

/
El producto de

(x + 8)(x - 8) es:

11

x° — 64

°/
<

~

El desarrollo de

(3x-2)2 es:

10

e

N
/
El producto de

(4x + 3)(4x - 3) es:

16

16x2 -9

%
<

9x2— 12x + 4/

El producto de
(7 - (7 + x) es:

13

49 — x?

\
>

N
/
El producto de
(1 =20 + x) es:

14

1-x?

.

%
<

/
\
El producto de

(B3x + 4)(3x - 4)
es:

17

9% - 16

\
>

/

o

/
\
El producto de

(x+ 3)(x-3) es:

12

x?-9 /




~

El producto de
3+ (3 - x es:

~

~

El producto de
(2x - 5)(2x + 5) es:

~

15

9-—x?

\ %
a N

El producto de
(2 -2X)(2 +2x) es:

18

\ e/
a N

El producto de
(5x-2)(5x +2) es:

19

\ e/
4 N

El producto de

(x + 3)(x + 4) es:

20

25x°-4

N %
4 N

El producto de

(x-5)(x + 8) es:

23

X2+ 3x — 4

\ 9%
a N

El producto de

(x+ 7)(x + 8) es:

\ 21 X2+ Tx+ 12 /

4 N
El producto de
(x-6)(x-9) es:

\ 30 x2—15x+5y

22

\ x2+15x+5y




-

\
>

\
>

.

e N
El producto de El producto de
(x-12)(x + 2) es: (x - 4)(x - 8) es:
24 x2 — 10X — 24 /\ 28 X%~ 12x + 3y
e 2
El producto de El producto de
(x-13)(x+ 5) es: (x - 15)(x + 3) es:
26 x? —8X — 65 /\ 27 x212x4y
e N
El producto de El producto de
(x + 18)(x - 2) es: (x - 5)(x - 3) es:
25 X2+ 16x — 3y\ 29 X2 — 8X + 15/




